ik

HRITT 202547345 B s il N B34 0 (S5 it )

FS | MR | SWIERSE | HEFRS|RELSKD | HuER| T
1 obEakt | 440224%sxxsxxxxd7] | ELFFxsxx3 ik bR % 13000
2 MR | 440204 %%xssss%%923 B EDxxxxS5 = FeeERAE 9000
3 LfE T | 440232%kxkxnnxx(]1 HFx#x9 it WK e T Rl 2 12000
4 HTE | 810000%###x+x%230 HLF(#%%8 = R e T L 2 8000
5 AL | 440221 %% x#xxxx%331 | HELFDsxx( ik ek IR F 9000
6 FH A | 4402335k xxnnxxxx006 [ HLFFrxxx9 it Wb E T % 9000
7 ¥orar | 432827xkxknnnnxd]1X | ELFDex#x9 itk bR F 9000
8 B | 440232xkxxnnxxx020 B FM#xx] Atk Wk e I | 2 4000
9 REW | 4418824k xxxxxx%018 HF5xxx] it MR TR 8000
10 MK 440203% s wkkxxx711 B D x4 = FeeERAE 9000
11 | XIFH | 4402325k sxxxxxx01X HERTxx5 ik WK o T & 8000
12 | vF3rE | 440223%sxxxnxxx216 HLRT#%%( it S SE Y 12000
13 PREEEe | 4416225 % xxxxxxx313 | ELPFaxxx3 = FeaL B % 15000
14 TEFZ | 440202%%%xxxxxx917 BRAxxx6 = WA TR & 13000
15 Mg | 440204 %kxxxnnxx011 BELEDsxnxT = HeaL B % 13000
16 | a4k | 440223 xxxxxxxx076 HLFX#%%9 it WK T & 12000
17 | AREEE | 44528 1% %xsxxxxx(14 BLE)wxx] it WK e Tl 2 12000
18 | ZEiT | 441621#%xxxxx4x538 |  HLFDxxxx6 it Wb E T % 9000
19 | E#HE | 440232%%sxxx4%5030 [ BEFDxxxx0 ik ek IR F 9000
20 | MRAK | 440223%xmxxnxxnT38 HLFG#x%) it WK T % 12000
21 X | 440229%xxkxnnxxd10 |  HELFFx#xx9 it bR % 13000
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FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
22 YHAT | 440202%%%xxxxxx94X BELRGxnx() = MR T & 12000
23 TN | 510322%%#xsxxxx512 | ELFFsxxx9 ik e R E 13000
24 | BLEFE | 440221%xsxsxxxx736 |  ELFD#xx#8 ik ek IR F 9000
25 o4 4402025 %%k 5k k%%226 B RFxxxx6 = FeERAE 9000
26 TLIE X | 440221 %% xsxxxx716 L R3)) P ik WK e T & 8000
27 BT | 440224 %k xxkxxxxT38 BEFWxxx8 At Wk I % 8000
28 ZE | 4402325k wxxnxnx017 HFQxxx(0 ik WK e I & 8000
29 VZEE | 440222%%xxssxx%233 B FD*%xx) Lz HeE R E 13000
30 W | 440204% %55 xx4%032 HRQxxx6 ik WK o T & 8000
31 HFHE | 440224 % xxxx%%289 HLRT#%%9 itk R e T L 2 8000
32 | AR | 440221%kxkxnnnx619 | ELFFrxxsx it bR F 9000
33 MAERE | 440223%xsxxnxxx518 BLEQxxx9 ik Wik TR & 13000
34 | FHE | 4402324 kxxxxxxx316 HETxxx( ik WK o T & 8000
35 IWw 4206245 %%k k%% 3]8 B FBxxx9 = WA TR & 12000
36 [ 360124+ x4 x%%%916 HRTxxx] ik MR o T & 13000
37 AT | 440224 % xxxxnkxx475 BR]xxx%() = YR i T R & 8000
38 | XIBEE | 440223%sxxnxxx517 HLRGH*%6 ik WK e I & 8000
39 WS E | 440229k skwknnnnT]8 B Rgxxx9 = WA TR & 8000
40 BAE | 440221 kxkxknnxx653 BLECHx*5 ik WK TR & 12000
41 MRARET | 440221%%xsxxxx%615 | HLFD##xx8 = HeeERAE 13000
42 | A | 440203%kxkxnxnx72) LR #x%) i3k WK 5 TR & 13000
43 SR | 440229k sskkkk%(59 B PR3 = FeeERAE 9000
44 | ATAEAEE | 440229%xxnrxnxxx)55 LR w3 ik WK TR & 12000
45 x| #] 360723k #nxnxnxx(23 HR5#xx8 ik WK 5tk IR & 8000
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Fs| ## SEHSE FEZERSHS | IHZEN S 2B (4L A5 (52)
46 AR | 4402235 kxxsnrnx338 HE)xxx( ik W o I & 8000
47 X|FEZ | 440223k ksksnsnn%723 B Rgxnn] = WA T F & 8000
48 FHEF | 440224 %xxnxnxxx599 | EFFxkxx) ik iR & 13000
49 i | 4402035k xxkxxxx43] B FN#x#] ik Wi TR & 12000
50 F T | 431129%xswssxxx210 BLFD#xxx8 AL FERE L 13000
51 W45 7% | 440203%%xsssxxx713 BLFFsoxoxx3 At TR E 15000
52 e 440223 %% xxxxx%(013 |  BLFD*xx%6 ik WAk IR T E 9000
53 B | 440221 %%k 3] B RD s = HFeeERAE 9000
54 | RAEK | 440229%sxxsnxxx913 [ HELF3xxx0 it oS- 8000
55 B pE 4402045k 5xxxx%x021 B FLxxx] = Wk 7R % 12000
56 2 | 4402025 %k xknxxx619 [ ELFFxnxxs ik iR & 13000
57 FEARF] | 44188 1sswskssssnnn) (2 BRYxxx) b WA TR & 8000
58 TAETE | 441424%0xnnxkxx34) B FHxx%0 it Wi TR & 13000
59 FRFHZE | 420621 %xxxxxxx%638 B FRxxxx] = FrEE B I H & 9000
60 Bh | 440222%kkxnnxnx025 [ ELFFxnnx) ik iR & 15000
61 A B A | 450121 %kxkxnxxx598 HLFR#x%6 ik WK 5tk IR & 8000
62 BUNE | 4402245 xkxxxxxx939 | EFDxxxx() ik RS E 13000
63 {THE | 440202%xxxxxxxx(72 B RFxxxx] = FeeERAE 15000
64 AL | 440229k xxnxnnxx2]] B FBxxx) ik R TR & 13000
65 b gk 440224 xxxxxxnx%(21 B EDxxxx] = FrEE BT H & 9000
66 | BEJFH | 440223xxxxxxnxxT15 [ ELBSkx#9 itk M e T 12000
67 FAE R | 440221 %xxxxxxxx919 B FN#xx) At Wk T % 8000
68 Z2hpdF | 440223k xxkxnnxx]28 BFxxx] A2t Rk TR & 12000
69 B 522225k xkxnxnnx(1X BLR(xxx8 ik Wi TR & 13000

%3, 421 m




FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
70 | WG | 440203%xsxsxxxx113 HRGxxx6 ik W o I & 12000
71 BR KA | 440281 xsxxnnxxx319 | ELFDwxxx8 At TR E 9000
72 BN | 4402325 ks kxnxxx014 | EFDxxxx( it kR F 9000
73 FHRE | 440221 #wwnnnnxxT]1 BRGxxx() = WA TR & 8000
74 BR/NE | 440221 % %% xxxkx%614 BRSxxx3 ik WK 5 TR & 12000
75 Z4E 450981 xxxnxnxx)89 |  ELFFxxxx9 ik RS E 9000
76 FOUHE | 445224%xknxnnxx515 B FQxxx8 = Wk e 3 R 7 12000
77 FEFE | 500101#%#xsxx%+528 |  BELFDx#%x3 = HeeERAE 13000
78 At | 440225%kxkksnxx41) | HEFFrxkx() it bR F 9000
79 B U | 440221 s kkknxxx%673 B RFxxxx6 = HFeERAE 13000
80 FEG | 440232%%xxxxx%x222 | HELFDsxxx] ik WAk IR TS E 9000
81 WAL | 440229% %k wwknx%93X B RFxxxx) b FeeERAE 9000
82 BE B | 440221 %% xxxnnnx)34 B Fxxx] L= MR IR & 12000
83 255 44022 3% xxxxnxxx(18 BLEYxxx() ik WA 5t IR & 12000
84 X|MEFE | 350583xmsknnnnx249 BLEDsxxx 5 = FeaL B %= 15000
85 MRAHTE | 4402225k xxxxxx%326 B FK#x%6 it MR TR & 8000
86 EA | 4402045k xnxnxxxT1X | ELFFxrxxt ik HeERAE 13000
87 LEE | 440221 % kkkknkxnT56 HE)#xx() ik WK 5t IR & 12000
88 | M4 F | 440222%xxxxnxxx614 LGk ik MR o T & 8000
89 W At | 440222%#swknnnx6]9 B RM x| = WA TR & 8000
90 | B&AEIE | 440281xxxxxxrxx011 [ ELF2xxx5 it S 8000
91 WK | 4402045k kkkkxxx713 B RFxxxx8 = FeeERAE 13000
92 HEIEZ | 440229%x#xkxnxx41( B RGrxx] ik WK TR & 12000
93 TR | 440223 xsxsnxxx718 | HEFFxsxx8 ik RS E 15000
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FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
94 BE | 440221 %k xxnxnnn61() L FHx#x8 it WK 9 % 12000
95 | AXIET | 440232¢sxxsxxxx324 HLFGxkn3 ik W& 3er R 8000
96 | EIA | 440221 %%sxsnxxx711 | HEFDxxxx) it kR F 9000
97 BoEmR | 371402%#%xxxxxx)36 BLFFxxk5 =8 WL E R % 15000
98 | Autat | 440232k ksrsrxnx712 | ELFDxxxx) itk kR F 9000
99 Rk | 440221 xxksnnnxx6]1 B EDsxokxx) = FrEb BT H & 13000
100 BRAE | 440202 % %% x%%%%918 LR #xx) ik WK e I & 8000
101 X B HE | 440232 %xkknnnnx(]8 B FRxx%9 = YR i T R & 13000
102 | MZER | 440203%sxxsxxxx438 | BELFFxxxxg it W RTA & 13000
103 | FHEFE | 430421 xxxxxxxxx319 B RFxxxx) = HFeERAE 13000
104 | BAFE | 440281 xxxxxxxx821 HLRGH*%6 ik W o I & 8000
105 | AAAE | 440204%%kxkxxxx732 HLFYxxx] itk R e T L 2 12000
106 | FPREH | 440225 %xxxxsxx634 HLFLxx%5 ik WK o T & 8000
107 | ZEXHE | 440229%xsssxnxx424 | HEFDwxxx( ik e ERAE 9000
108 | BRIRIA | 445321 %4 wwnssnx612 |  HLFFxxsx] itk B hE IR T F 9000
109 | #ZE3R | 441602%xkxsxxxx136 |  EPFxxxx9 ik e ERAE 9000
110 | fT/N4E | 440281 ##xxx+xx%834 HLFW4%%5 it WK e T L 8000
111 R | 440225%kwwwnnnx(1X B EDxxxx8 = FeeERAE 9000
112 | ZFCA | 440204%#xsxxxx%95X | HLFD#xx#3 ik ek R F 9000
113 | WS | 44022 xxxxsxxx229 HLEN#x#8 ik WK stk IR & 12000
114 | XPEA | 440223+ % xxxxxxx448 BLFDskkx 3 At FERE L 13000
115 | EHKE | 440281 #xxxxxxxx817 HEJ#xx] ik WK e 7 8000
116 | A%k | 450881 ###xx4x%x030 | HELFFx##%9 ik WAk IR T E 9000
117 | ZH B | 440223%xxxxxxxx)37 B EDxxxx8 = FeERAE 9000
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FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
118 | FRZES | 440825%xsxxxxxx352 [ ELFFxxxx9 it e R % 15000
119 B iE 440222 %%k kkkxx%213 B RExxx6 = WA T F & 8000
120 | EFE | 440202%%kxkxxxx352 HFS%kx5 ik WA e T R % 12000
121 | RZH | 412326%%xx+xx5x(074 B RTxx5 At MR I & 12000
122 | ZRE | 440229 #xkxsxsxx21) B FBxk () ik WA e T R % 13000
123 | EEE | 440281 xxxxxxxxx(010 B RSxxx4 = WA TR & 8000
124 | XPIF | 3621225 xxxxxxxx496 BLRg#x%9 ik WA e T R % 12000
125 X ER | 440229 %% xxxnnnx(4X B EDxxx%9 = FrEE BT H & 9000
126 | ZRREE | 513030%xssssxxx110 B FFxxxx8 = HeeERAE 13000
127 MRE 2 | 440281 xxxxxxxxxd26 B EDxxxx6 = HFeERAE 9000
128 | ZRE4r | 430681 #xkxkxsxx09X |  ELFFxxxx5 itk W RT A& 13000
129 | RAKZ | 440221 %xssxxxxxT712 BLEDsx#%9 =8 Wb E % 9000
130 B 34242 3% xkkxkxx)81 | ELFDrkxx6 L= R % 13000
131 B | 440281 kkknnnnnn6]8 B RFxxx5 = WA TR & 8000
132 | A | 440222%sxxsxxxx013 | ELFFxxxx3 ik W RTA & 15000
133 | Mk | 440221xxsxxnxxx210 B FSx#x] = Wk e 7 7 8000
134 | HEZE | 411424%%xxxxxxx276 HLRgxxx6 ik WK e I & 8000
135 &k 440281 ##*xxxxxx811 B RExxx6 = WA TR & 4000
136 | A2t | 440281 ###xx4x%x736 | HELFFxxx%6 ik WAk IR T E 9000
137 | X KZH | 440281 xxsxsxxxx415 B %] = Wk T % 8000
138 | #PAEK | 440225%xxxxxxxx911 BE9xxx6 it Wk I R % 13000
139 | FP#RIE | 440222%xxxxxxxx312 B R3xxx8 = WA TR & 8000
140 | B A | 440221 %xsnnnxnx2]X | EFT#%x9 ik WK TR & 8000
141 MO, 440232 %% wwkkkkx6]14 B EDxxxx8 = FeERAE 9000
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FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
142 | BE T | 4325225k kxsnxnn044 HLFS#x%6 it WK 9 % 12000
143 | ¥FaRA | 441881xxxxxxxxx115 B FF () = FeeERAE 9000
144 | 22 | 440221 #%xxxnxxxx214 HR3xxx] it Wi R & 8000
145 | X462 | 440224xxxxxxxx806 L FFxkk%) =8 WL E R % 15000
146 | R#AL | 44020255 #xxrxxx213 HLFAx#x5 it WK T % 12000
147 | ZEH | 440229%#xxsxxxx565 HR9xxx9 i3t WK 3 9 7 13000
148 | M | 440204 xkxexxxxT13 RS #x#8 ik WA Je1 I F 12000
149 Z8E | 640381 xkkxnxnrxd3] HRTxxx) i3t WK 3 7 7 8000
150 | BT E | 440229%#xxxx4x%518 HLRQ#+%8 ik WK o T & 8000
151 | MikE | 230107##sxsnxnxd3X | EFFxxnx] i3t R % 9000
152 | HEFE | 441422%xxxx%x%318 HLFQux#3 it WK e T L 8000
153 | 22T | 440281 %#sxxxxx33X [ BLFDx#xx5 = HeeERAE 13000
154 | Zagd | 440204###xx+x%x739 | HELFDxxx%6 ik WAk IR TS E 9000
155 | #f#e2 | 440223%xxsxxxxxx727 B RFxxxx) = FeeERAE 9000
156 | HZ=HF | 440228%ssxsnxxxx031 | HEFFxxxx] it R % 13000
157 | AR | 440204 xxxxxxxx612 B PR %% AESE WA e 3 % 4000
158 | AR | 430521#ssxsxxx212 |  ELFDwsx#8 ik ek R F 5000
159 | APmeMg | 432930%#xssnsxx(2X | ELFDxx#x9 i3t R % 9000
160 | BAaA | 440233%sxxxx4x%(59 HLRZxx%5 ik MR o T & 13000
161 | HEH | 441802%kxxnxxxx827] HLRD#x%8 i3t WK 7 2 8000
162 | WitFHk | 440204%%xxxxxxx021 HF5xxxd it WK e T L 4000
163 ¥ 5% 440223 % xxwkxxx%079 | EFDxxxx6 AESE HeREFFHE 9000
164 | & | 440222%%kxxnxxxx(030 [ BELFDxxxx) A HeeREFHE 13000
165 | BRAE | 440221 %xxsxxxx313 B RTxxx9 i3t WK 3 7 2 12000
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MG &

FS | #®#& SIS | TiEFESHE | IBE S B | AMEERAH] ()
166 | AP4E4s | 430523%%sxsxxxx81X |  HLFFx#xx( ik WAk IR TS E 9000
167 | ATFAL | 440223 xxxxxxxx026 B FxxxT it MR TR & 12000
168 | AALHE | 432828###x#x%x93X |  HLFFx###8 ik WAk IR T E 9000
169 | WAEH | 440229%sxxxxxx%219 BLEPxxx() ik Wi TR & 12000
170 | P& | 440204+ xx5x5x026 |  HEFDxxx%6 ik WAk IR TS E 9000
171 | JEAIAE | 440221 %sxmsxnxx911 BLFGxxx4 ik Wi TR & 13000
172 H | 4402028 xxxxnxxx634 | EFFrxxx9 it R % 13000
173 | 540 | 440229%%xxxx%%258 B xxx5 At Wk T F % 12000
174 Mt | 440223%xsxxxx%x030 HLRg#xx3 ik WK o T & 8000
175 FEE | 440221 ##%xxxxxx646 B EQxx%0 = YR i T R & 12000
176 | REMH | 440224 xxxxxxxx473 | HEFDsxxx( it bR F 9000
177 | Sh=EME | 445321xxsxxxxxx635 BLEDxx#% 6 =8 Wb E % 9000
178 | 4P | 440221 %% nxnnxnx617 | EFDx#xx6 it R % 13000
179 | %A | 440233%smxsnxxx002 HLRWxkxT ik WK e 7 2 8000
180 KSEE | 440221 %%k ks xxxx915 HLR5xxx) ik MR o T & 8000
181 | FRZLUH | 440802%xxxsxxxx(33 |  HELFFxxxx] ik W RTH % 9000
182 | BEA | 4304245 % xxwxrxx011 BT %% ik R TR F 8000
183 | HG4Ms | 4402045 xxnnxxxT43 HFLxxx6 ik WK e 7 2 8000
184 | MEEFE | 440221 %x#xxxxxx789 |  HELFFxxxx8 it bR F 9000
185 | P& | 440223xxxxxxxxx524 B EDxxxx6 = FeeERAE 13000
186 | AU | 441881%xxsxxxxx113 |  EFBxxx0 ik S 4000
187 | ZAEE | 440221 %xsxnxnxx615 | EFFxxxx8 ik e ERAE 9000
188 | HMIARIE | 440221 %mkxwnnxx218 HLRSwxx) ik e S 12000
189 | EHAWR | 440203%xxxxnxxx716 HFQ#xx] ik WK e 7 2 8000
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FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
190 1 440203%%xxkxxxx110 BLE)xxx5 = MR T & 13000
191 FAEEH | 44022 3%%kkkxxxx]11 B RFxxxx] = FeeERAE 9000
192 | BLE % | 440221 %% xxxxxxx616 HLPT#%%9 it WK e T L 8000
193 | MREE | 440229%%+xxxxx%23) [ BELFFxsxx) = HeeERAE 13000
194 | E814% | 440203%#xxxx4xx817 |  HLFF##x%5 itk B hE IR T F 9000
195 | B EE | 44188 1xxxxxxxxx31X B RLxxx9 = WA TR & 8000
196 | 427F3E | 440202 % #xxxx%313 HLRQ#x%5 ik WK e I & 8000
197 | EIE | 440225%xswxxxxx812 BLFFxx#%9 =8 WL EF R % 15000
198 | FE/NA | 440233%sxxxxxxx03X HFTxxx3 ik WK o T & 4000
199 | ZFEA | 4310225 xxxxxxxx01X JEL8#%%5 = WA TR & 12000
200 | XA | 440202%%xxxxxxx614 BRQwxxS Bk WA TR & 13000
201 A F | 420106%xxxxxxxx018 B RFxsnn] b FeeERAE 13000
202 | RYLAE | 44028 1swxsrxnxxTTX | HELFQx#x1 itk WK e T L 8000
203 | FBRTAE | 440224%xnxnxxxx499 | EFFxxxx6 ik e ERAE 9000
204 | fEEEN | 440204%xnmnannxx316 | EF3xxx( ik MK T % 8000
205 TR ST | 440221210 B R3xxxs5 = WA TR & 8000
206 | RLUE | 440203%kxsnxnxxd3X | ELFDwxxx] it W RTA & 13000
207 | FRZEH | 441425%xkxnxnxx]35 HLEM#x#8 ik WK e 7 2 8000
208 | B4 | 432424xxrxnnnnx(17 HFTx#x8 it WK T % 12000
209 BN | 440222%%xkknxxx(09] B EDsxkk () = FrEE BT H & 9000
210 | XUMFE | 440222 xxsnxxxx22) | EFFxxxxg ik RS 9000
211 3% 440232 %%k wkknnx(]7 B RFxxxx) = FeeERAE 9000
212 | BB | 440232 s xxrxnnx610 | HF4wwx) it K e R 4000
213 Tk | 440203 xxnnxnnx138 | ELFDwwxx] ik WL RTH % 9000
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FS | #®#& S-S5 MEFESH [ IBFA S A (4 MEETHIE 5 (72)
214 | XBIL | 440232%xkxnxkxx018 |  ELFDkxkx( it bR F 5000
215 7k # 4402045 %% xxkxx%328 B FWxnxg At R TR & 8000
216 | Z7E3 | 440204%xxxsnnnx944 BR5xxx8 ik WK e T Rl 2 8000
217 | HZY | 512926##xxsx#x%819 |  ELFD#x#x9 ik R % 13000
218 K& 429006 % #xxwkkxxx 00X |  EFFwxxx) A HeeREFH%E 13000
219 x| 4 44022 35wk kkknk %727 B RFxxxx9 = FeeERAE 9000
220 | AT | 440204xxxxnxnxxT20 HLR3xx%8 ik WK e I & 8000
221 | WM | 440221 %% xxxrssx514 B FD**x%9 Lz HeE R E 13000
222 | EA | 440221 xxnrxnxnxxT1] BLFL#x%6 ik WK 5 TR & 12000
223 4] 440221 %k sk %329 B EDxxxx9 = HFeERAE 9000
224 | AT | 432623%sksksnxxT60 | EFFrxxx] it bR F 9000
205 | ATFAL | 440224%%xxxxxxx195 B Jxxx( b R TR & 8000
226 | EFEIE | 4402255k xxnxnnxxd5] LR 3wxx) ik WA e T R % 13000
227 | FPAE 2L | 440223%%kxxxxxx]128 B xxx3 = WA TR & 8000
228 | FERA | 440232xsxxxxxxx538 | ELFDwxxx3 ik ek R F 9000
229 | XIBE | 440223xxxnxxxx(53 HLFxxx5 ik WK e 7 2 12000
230 | 2R | 440232%#xxxxx5%012 | ELFFxxxx( ik ek R F 5000
231 | BB | 430611%xsxxuxxx532 [ EFFxxxxs AESE HeeRERTHE 15000
232 | ARERA | 440229%xkxxnxxx017 BEVxxx9 A2t R T R % 12000
233 | FREF | 440229 x#xxxxxx815 B xxx4 ik WA e IR & 8000
234 | RAVE | 440229%kkxnxnnx2T4 BLFF#x%6 ik WA e T R % 12000
235 | BREIE | 440232%xkxnxnxx(25 | EFDxxxx6 ik HeRES A E 13000
236 | AWA&E | 512924%sksrxnxx571 HLR3xxx4 ik WK o T & 8000
237 2 440203 %5 xxxx%719 | HELFFxxxx( = HeeERAE 9000
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FS | MR | SWIERSE | HEERS | RELSKD | HuER| T
238 | EEAE | 440204%sxskxnxxx418 |  EFFrxxx] it bR F 9000
239 | Zkik | 440229%%xxxxx%%91( BR)xxx5 = WA T F & 8000
240 FE | 511023%xkxsnnnndTX | HEFDxxxx) ik WL RTA & 13000
241 x| A8 440224 %xxxx%%%x%x799 B FRxxxx5 = FrEb BT H & 9000
242 | ZBEER, | 440221 kxexnxnxx323 | ELFDwxkxT ik W RTA & 13000
243 | B EAE | 440223%wwwwnnxx3]X B RFxxxx5 = FeeERAE 9000
244 | ZHE | 440204%xxwxxkxxT15 [ EFFxsxx( A HeeREFHE 13000
245 BEFE | 440281 xxxxxxxxx817 B EDxxxx 5 = FrEE BT H & 9000
246 | FREFE | 440204%xksxnsxx716 [ BELFDxxxx9 A HeeREFH%E 13000
247 B DAL | 4402245k kkkxxxxT98 B R[**x%() = YR i T R & 8000
248 | TEM | 440229%#x#xxxx%033 HLRgxxx] ik W o I & 8000
249 | BEF I | 440202%%xxxxxxx2)8 BR()xxx5 b WA TR & 8000
250 Bz | 440223%%#x4x4x%338 | ELFF#x#%9 ik ek R F 9000
251 | HZEE | 522228%xsrxxxx(8X HLF] %k ik WK e 7 2 12000
252 | RBSrEE | 440232skxkxxxx025 HLRgxx%8 ik MR o T & 8000
253 | BRFHF | 440229%%%%%%%%x918 BR]xxx6 = WA TR & 8000
254 | ZeigE | 431022%%xskxkxx695 | ELFDwsxxS ik ek R F 9000
255 | ZEE | 440225%%xxxxxxx835 B RFxsnn] = FeeERAE 15000
256 | IR | 440203%%xxxxx%%810 BLFFxxxx6 AL FERE L 13000
257 | ARER | 4414225 wwwnxxx2]1X B PR3 = FeeERAE 9000
258 | HETHE | 440221 %sxsnxnxx520 |  ELFDkxkx7 it bR F 9000
259 | RAFAE | 440221 %xxxxxxxx219 B R3xxx] = WA TR & 8000
260 | JLEEHKE | 430622%%xxxxxxx017 BLRQ#x#8 ik BRom TR F 12000
261 | FRAAE | 440223*xxxxxxxx026 B %6 ik Wi TR & 12000
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262 | FBRABIE | 440281#xksxsxxx040 | ELFDrxx) ik WAk IR TS E 9000
263 | BEFH | 440224%xkxnxxxx504 | EFDxxxx9 ik e ERAE 9000
264 TfE | 430903%#xxkxxx%935 | ELFDwxxx8 ik ek IR F 9000
265 | HEF | 4402294 % xkkxxxx049 BLRDxxxx] At TR E 5000
266 | X|GIE | 440203k xxnnxnnxT2X | EEDxxxx] ik IR & 9000
267 | {E¥3h | 440203%xkxxsxxx518 [ BLFFxxxx9 AESE HeeREFHE 13000
268 & 4402225 %% %%k x%%612 BEFJxxx6 L= WA TR H & 12000
269 | EEEJE | 410522%%#xxxx45473 | BELFFxsxx3 = HeeERAE 13000
270 | #Bra | 440204#%xsx4%%x918 |  HELFFx###8 ik WAk IR T E 9000
271 | EHL | 440203 xxxrxxnx112 HLFL*%%9 itk WK 3 7 2 12000
272 | FEARAE | 440223%xkxkxkxx218 | ELFFxxkx( it bR F 9000
273 | BLaEHE | 440221 %%#kxxxxx915 BE(xx%6 b YR i T R & 12000
274 | x|#EA4 | 440202%%#sx4x%x310 |  ELFD*##%9 ik WAk IR TS E 9000
275 | B EEL | 440232%xkxnxnxx812 | ELFFxxxx] ik e ERAE 9000
276 | AR | 4402025 %k xxxxxx611 HE)xx%9 At MR TR & 8000
277 | FRAER | 330182sxwxxxxxx624 HFMB# 7 ik WK e 7 2 8000
278 | RA|E | 440223k xkxnxkxx416 |  ELFFxxkx9 it bR F 9000
279 | BAEGA | 432824%xxxxxxxx216 BR)xxx6 = WA TR & 8000
280 B | 440223%%xxxx4x%(39 HLR3xx%8 ik MR o T & 8000
281 | FRED | 440220%#sxnxsxx02X |  ELFD#x#x9 ik W RTH % 9000
282 | EIFE | 441821xsxxrxrxn54X HLRQxx%5 ik WK e I & 8000
283 | ET A | 4414255 kxskxkxx479 | EFDxxxx8 i3t R % 13000
284 | WRES | 440233%sxxxxxx%037 | ELFDw##x8 ik ek R F 9000
285 | bRz | 440222 xkxrxxxx218 B xxx) ik Wi TR & 12000
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286 EERE | 362131 %%xxxxxxx331 BLWH s ] At MR T F & 12000
287 | RZER | 440222%xxxxxxxx549 BFgxxx3 b R TR & 8000
288 | ARFAE | 440232%xxxxxxx%639 HLFLx#%3 ik MR o T & 8000
289 Tk E | 362524%%xnunnnxx01X BRGxxx8 = WA TR & 13000
200 | ZHHE | 440221 xxnnnxnxx2)] BLR5wxx) ik WA e T R % 12000
291 MG | 440203kxkxknxnx853 LR xxxT ik WK e 7 2 8000
292 | FEFT#E | 440221%kxwesnxxT14 | HLFFxxxx8 it B hE IR T & 9000
2903 | ERE T | 440221 %xxxxxxxx514 B RD s = HFeeERAE 9000
294 | BRMEIR | 440222%%xxxxxxx554 HLRgxx%§ ik WK o T & 8000
295 BREUT | 440225% %% sxxx%%631 B EDxxxxS5 = HFeERAE 9000
206 | Z4& | 440203#%ksxxxxx811 |  ELFD####8 ik WAk IR TS E 9000
297 | HEERIE | 440202%xxskwxxxx62T BLEDsx##8 =8 Wb E % 13000
208 | ZEFH | 440204xxsxnxnxx62] | ELFDwxxx9 ik W RTA & 13000
209 | ZZE | 440222%%xxxxxxx(024 B FPxxx() = WA TR & 12000
300 | BFA | 440221 kxwxnnxnx511 | ELFDrxxx5 itk B hE IR T F 9000
301 BTG | 4402025 s sskskkk%62) B RFxxxx6 = FeeERAE 15000
302 | AR | 440222%xkxxnxxn) 35 B FR#x%6 it M TR & 8000
303 | EAHFE | 411322%xxxxxxxx358 B Rgxxx() = WA TR & 13000
304 | FRERME | 440225% ks ksnxnxd5X HLR5xx%8 ik MR o T & 8000
305 | HESUEE | 440222 xxxxxxxx534 B RLxxx] = WA TR & 12000
306 | XIFFE | 4301245 kxxxxxxx49( HRTxxx] ik WK e I & 8000
307 | FEA T | 4303220xsxxnxxx190 HLFM# %9 ik WK e 7 8000
308 | B XHE | 440281xxxxxxxxx81X BLRVxxx6 ik BRom TR F 8000
309 | FEThHE | 440232%xsxxnxnn61l HLFGxxx( ik WK e 7 2 8000
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310 | HREFE | 440225%%#x#x%x%616 | HLFDx#x%3 ik WAk IR TS E 9000
311 BRBA AT | 440229 %xxxxxxxx937 B Rgxxx) = WA T F & 12000
312 B | 510922%#x#xxxx838 HLRgxx%8 ik MR o T & 8000
313 | AL | 45082 1sxrnnnxrx(33 HLF(x#x8 ik WK e 7 2 12000
314 2% | 440233%xknnnxnx(56 | HFFxrxx] ik W RTA & 13000
315 KA | 4402325k wkkkxx%223 B Rxxx9 = WA TR & 12000
316 | 2=/ | 440122%%xxxx%2722 HLFW4%%5 it WK e T L 8000
317 YA | 441621 %% xxxsxxx52) B EDxxx%6 = FrEE BT H & 9000
318 | FE/NH | 440222xsnxnxnn3)X | EFFrxxx9 it W RTA & 15000
319 | XUZEH | 440229%sxxunnxx042 | HEFFruxxT At Ha R E 13000
320 | BFm | 440229%sxxxwsxx329 B FFxx#%9 =0 HeEFRA & 13000
321 | 2P | 441424xxxnxnxxx608 HM2#x% ik WK e 7 8000
322 | AREEA | 440202%x#xkxxxx610 [ HLFDxxxx( ik WAk IR TS E 9000
323 | #FER | 440229k xsnxnxnx819 BF2xxx8 it Wi T & 12000
324 | FKAEAR | 440224% % xxxxxxT9X HEER)#xx( =2 h WA TR % 12000
325 | BRARIE | 440229 wxsxnnnn03X HLPT#x#8 ik WK e 7 2 13000
326 | FE/NE | 440222%kskxnxxx218 | EFFxkxx] it bR F 9000
327 | BEE | 440204%xsxxnxxx320 HLFxxx( ik WK e 7 2 12000
308 | FBREEAE | 440233%xxxxxxxx(18 HR5xxx6 ik MR o T & 8000
329 k2 4402245 %%k kk%%729 B xxx() = WA TR & 8000
330 | BKAEFE | 440202xxxxxxxx818 |  HLFCxxx9 ik MR T R 8000
331 W E | 440221 #wwsknnnx6]9 B Rl = WA TR & 12000
332 | BRAUZE | 440229%xknknxkx923 HETxxx( ik WA e T R % 12000
333 | KREL | 440232xxxxxxxxx216 B AxxxT] = WA R & 8000
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334 | AETE | 440202k kkxxxxxx619 BLFDxxxx6 At FERE L 13000
335 | ZUHE | 420105% ks nxnxnx81X | HEFDxwxx] ik e R E 13000
336 | MRAKZE | 440221 %kxxnnxxx543 B F3xxx3 = Wk e 3 R 7 12000
337 Fl & 440204 % ## 55555327 BFS#xx5 it MR TR & 8000
338 B | 4402035 xkxnxxx548 BLRL#x#) ik WK 5 TR & 13000
339 | EFZEHE | 440229%kxxxxxxx623 BEFgxxx8 Atk Wk e I A 2 12000
340 | FBRSEH | 440106%%#x#xxxx051 | ELFD#xx%2 ik ek R F 9000
341 TR | 440225% % sswnnxx615 BRSxxx8 = WA TR & 8000
342 | VAL | 440221 %xkxsrsxxT719 | HELFFxsxx( it bR F 9000
343 | FHETF | 440222%xxxxxxxx219 BEFgxxx] Atk Wk e 3 | 2 12000
344 | BITAE | 440281%xkxsrsxx639 | HELFDswxx( ik HeERAE 13000
345 | BREIE | 440204%xkxxxxxx316 HLE)xxx] AL WK 5t IR & 12000
346 FE | 431027 #xxwxsx4%823 HLRgxx%5 ik WK o T & 8000
347 | KfEFH | 431026%%xxxnxnx011 | HEFDx#x#8 ik e R E 9000
348 BAE | 430404xxxxxxxxx]176 B D w9 = HeeERAE 13000
349 | MpAAME | 440221 %xrnnnxxT2] | HELEDwkxx) L= RS E 9000
350 BRA 430722%xxxsxxxx47X | EFFxxxx6 =0 HeETRA % 13000
351 | YRRE | 362528%xsrxnxxx(15 HEY#x%6 ik WK 5t IR & 12000
352 | EokHE | 440223%xxxxxxxx829 HF5xkx) it MR TR 8000
353 | BKALE | 230803#xsxxrxxx(74 HLRG#x#) ik WK stk IR & 12000
354 | FFEAR | 440204%xxxxxxxx416 B RWxxx] =R Wk T % 12000
355 | HUEEHE | 440228*xwxkxxxx)3] HLFR*x%6 ik R e T L 2 8000
356 | XISKUK | 440229%ksksnxxx22] | ELFFxxxx6 it bR F 9000
357 RN 362202k % xxnxkx%634 | ELFDwxxxg ik e R E 9000
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358 | JEARIRE | 440229 ssswnnrn6]S B FDssnn] = HeeERAE 15000
359 WA | 440281k kwnnnnnx075 | HLFDwkxx5 i3t R % 13000
360 XA | 440224%xkxkxxxx26X | ELFD#x##8 ik WAk IR T E 9000
361 BN 4414255 s wwkk%%979 B RDwwnn] = FeERAE 9000
362 | WMWK | 432827xkkxxnxxx626 HLFA%#x9 it WK T % 12000
363 | KAK | 440232%xxxxnrxxx559 HRTxx%8 i3t WK 3 9 7 8000
364 | ARTHAE | 440229%xxxxxxxx220 HLEDxxx( ik WK e I & 12000
365 | EfEL | 440281%xxxxxxxx110 HLE)xxx] it W it IR & 8000
366 | ZrFE | 44022 xxkxnnxnn2l4 | HEFoxxxg ik MK T % 8000
367 | E/ANER | 440803%kkxsnxnn32) HF)xxx8 i3t WK 3 7 2 8000
368 | EAEU | 441821xkxnxrxxx340 Loy PERY: Bk MR TR T 8000
369 | TEAEEE | 440224 xxxrrrrx39X B PR3 b FeeERAE 9000
370 | BAIZE | 440204#xxxxnxxx023 |  ELFBx#x] it WK T % 12000
371 | MRBET | 445122%sxxnxxxx(41 B R(*%%9 = Wk e 7€ ) 7 12000
372 | SREUHME | 440222xxxxnxxx61] L FHx#x9 it WK e Tl 2 12000
373 | DEE | 430781ssmnsnxxx017 [ EFDxxxx9 i3t R % 9000
374 | XBE | 440221 %kxxxxxxx228 |  ELFFx#xx8 it W RER A% 13000
375 HEZ | 440202%xxxxxxxx913 B xxx8 = WA TR & 8000
376 | 4 IREE | 440225%%#x#x%x%210 | ELFF#x%%8 ik WAk IR T E 9000
377 | WAL | 4402245 xxxxxxxx518 HEFgxxx] b MR TR & 8000
378 | KR L | 440221%x%xxxxx%510 BLFpxx#3 ik R TR F 8000
379 | X | 440222%xxxxnxxx728 HEQ#x%5 ik 3 i a 8000
380 | BREOA | 440221%x#xxxxx4213 HLR) %9 ik WK o T & 8000
381 | FRAMEE | 440229%%xxxxxxx522 HFR*xx*3 ik WA 3 IR & 12000
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382 | REZE | 440221515 B xxx( = A e T H & 12000
383 | AR | 440281xxxxxxxxxdS] B F4xxxg ik WK 5t IR & 12000
384 i 4312025 % %% kkk%%(37 B D w9 = HeeERAE 13000
385 TR | 440225 %xsxnnnnxx]13 B RFxxxx8 = FeERAE 9000
386 | BTEE | 440221%xsxxxxx%228 |  ELFDsxxx5 ik WAk IR TS E 9000
387 | RAVE | 440222xxxxxxxxx216 B RDxxxx] = FeeERAE 9000
388 M 55 S11129%%%%xxxx%817 B FF ) = HeeERAE 13000
389 | BEAHME | 440224kxxnxnrxxx596 HR] %) ik WK e 7 2 8000
390 | MR | 440221 kxxsnrxnn25e BEFT#%x5 it MR TR & 13000
391 | BREE | 440221 %xxxxxxxx312 BLR(xxx6 ik WA e I & 12000
392 | Fxdt | 440281%x#xxxxx%016 | ELFF#x%%5 ik WAk IR TS E 9000
393 B3 440221 #wkskskkkn%2]9 B R3xxxs5 b WA TR & 8000
394 | EREAE | 440229%kxmkxnxx2]8 BETxxx8 it Wk I R % 12000
395 | MAFE | 440224kxxsxnxxx948 HLETxx%( ik WK e 7 2 12000
396 24| 431023% kx5 wxxxx21X HRTxxx6 ik MR o T & 8000
397 Heh | 440203 xxxxnxxx510 | HEFFxxxx( ik W RTH % 13000
398 | KM | 441621 %k kxnnxnnd2] HLR(xx%0 ik MR T % 8000
399 | ATBER | 440225%xxxxxn%x215 BE)xxxT] = YR i T R & 4000
400 | HEIE | 440221 xkxsnxnxx01] | ELFDwxxx8 ik IR & 9000
401 ZE | 440821 skwknnxxx(11 B PR3 = FeeERAE 13000
402 | %HiEH | 440224nsnnnnnxxd79 | EF3xnx3 ik WK itk T & 8000
403 x| F, 43058 1#sxxrxrxx511 B ED*xxx1 At HeREFFHE 9000
404 Aok | 440221 %k xnxnxnx630 B FBx#x6 ik WA e T R % 12000
405 | ZLEPT | 440204%kxxnnnnx(28 HLF]xxx8 ik WK e 7 2 8000
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406 | FREBE | 4401225 kxnnnnx026 BRT#x% ik WK 5 TR & 12000
407 | BLZIAE | 513029%sxxsxxxx839 [ ELFFxxxx( ik LRI % 9000
408 B | 440232kxkxnrnxx040 HRGxxx6 ik MR o T & 8000
409 | ZZ=F | 440203%kxkxxnxxT49 | BEFDwxxx9 ik R % 9000
410 JEE | 4305254 % s xxnxnx115 HLRY#%9 ik WK e T & 8000
411 | REH | 440203%kxxnxnxx565 | BELEDwxxx) ik W RTH % 13000
412 BRig | 430381xmssxsnxx31X | EFFwxxx] ik W R A& 15000
413 | HRFAIE | 440221%%xxxxx2x610 |  BLFFx##8 = HeeERAE 13000
414 | BFRIFE | 440221 sxnxnxnxx657 BLR)#x%9 ik WK 5 TR & 12000
415 Kb | 440221k xxxxxxx61X B AxxxT] = WA TR & 13000
416 | 44AF | 362124%xsxrxxxx01X BF3xxx9 it Wk T R % 12000
417 | BEAEAR | 440221 %%xsxxxx%610 B RLxxx9 b WA TR & 8000
418 | WUEE | 440224%xxxnxxnx(37 BLF3wxx] ik WA e T R % 12000
419 ITAEH | 440221 %sssxxxx%210 B RFxxxx9 = FeeERAE 9000
420 | HEM | 441481xsxsxxx+%997 |  ELFFxsxx6 ik ek R F 9000
421 B | 440520 xkxxnxxx356 B Q%% ik WK e 7 2 8000
422 | WRKF | 440224 xxxnxxxx268 HLFL#%) ik WK e I & 8000
423 | X|ZHFE | 512924xnxnxsxxd]3 | ELEDwxxx9 ik e R E 13000
424 ZEy | 421022%kxxxnnxx50X | ELFFxxkx() ik W RTA & 13000
425 | WAMN | 440232 xxxxxxxx018 HF(xx3 At Wk T % 12000
426 FEIE | 429004%kxxxnxxx728 BLRW#+#8 ik WK e I & 13000
427 | FRAFE | 440204%xsxnrxnxx049 BLRQxxx5 ik WA e I & 8000
428 | H/\GE | 440229%xxxxxxxx(15 B FD**x%9 L= R E 13000
429 wHE 44022 1w wkkknnx]16 B Rl xxxT] = WA R & 8000
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430 | BN | 440221 sxsnnnnnn62d | EFDxxxxT ik RS 9000
431 T 37120255 ssxxxx721 BRGxxxS5 = WA T F & 13000
432 X 75| 440223%kxkxnnnx376 RS #x%) ik WA e T R % 12000
433 | TRF | 422828%xxxsxxxx219 BLE(xxx] =8 WK T & 8000
434 | ATIRHIE | 440204%%xsxxxxx036 |  ELFDxxx#2 ik WAk IR TS E 9000
435 | BUEREE | 440225%ssxxrxxx115 HEFxxx9 At MR TR & 8000
436 | Rusdh | 4402225k xxxxxx%22) HLFB#%%5 it WK e T L 8000
437 HER | 440229%%sknnxxx(37 B EDxxx%9 = FrEE BT H & 9000
438 | EHE | 440229%kxxnxnxxd]3 L FExxx3 ik WA e T R % 12000
439 | #hXE | 440281 xrxrxnxx811 B xxx() ik WA e I & 8000
440 | FKATE | 4402295k xwxxxx%324 | HLFDwx#x9 it B hE IR T & 9000
441 WA N | 440222%%wwkkkxx2]5 BRSxxx5 b WA TR & 8000
442 | B | 441822%%xxkxxxx31X HLRV#x#7 ik WK o T & 8000
443 | FRAEIE | 440921 %% xxxxxxx339 BDxxxx6 = FeeERAE 9000
444 ZEnt | 440229 %% kxknknx(22 HF(Qxxx] ik WA e T R % 13000
445 | IREEE | 440204%xxxxrxsx(12 BLFFxxxx9 At TR E 13000
446 | FRZEZD | 440229%xsxnxxxx723 | ELFFxxxxg ik W RTA & 13000
447 | BT | 440203%xskxxssxx153 [ BELFFxxxx9 At HeREFFHE 9000
448 | EBEL | 440204%xxxxxrxx026 B FL#%%9 = Wk e 3 R 7 12000
449 | EWE | 440232xrxrxxxx016 BT xxx] ik WA e IR & 8000
450 W AE | 430321%x#x#x%x%528 |  ELFFxxxx6 ik WAk IR TS E 9000
451 | FRZIE | 440204 #xxxxxxx623 HEFgxxxg At Wk T % 12000
452 | BEIBAE | 430421%xxsxxxxx814 B FN*#x8 it WK e Tl 2 8000
453 | BEIR | 431026%%xxxnxnnd]] B %6 b R TR & 13000
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454 | R AR | 440221 %xxsnkxxx813 BLFL#%%8 At WK I & 12000
455 | =& 440282 %%k kkk% (25 B Pl xxx8 = WA T F & 8000
456 | FEAR | 450703#%kxxxx%x328 |  HLQFx###8 ik WAk IR T E 9000
457 | #EER | 440203 xxxrxxxx822 HLRM# %% ik WK 3 7 % 12000
458 | FREBE | 440204%xkxnxxnx3]9 HLFL*#xg it WK T % 12000
459 | BUEMW | 440221 #xxxnxxxx558 HRSxxx] i3t WK 3 9 7 8000
460 | BUAEEHE | 440225%%#sx4x%x413 |  ELFFxx##8 ik WAk IR T E 9000
461 | ZPTTE | 432302%kxskxxxx921 | EFDwxxx7 i3t R % 9000
462 | HZZEH | 4402295 xkxxnxxx62] [ EFFxxxx6 it e R % 13000
463 | FEEIE | 431124xxrxnrxnxx914 BLQFx#xx8 it e IR I & 9000
464 | BRfETE | 440224%%xsxxx%x506 |  HELFFxxx#8 ik WAk IR TS E 9000
465 | ZIhA | 440228%xxxxxxxx214 B AN 3 b WA TR & 12000
466 | PFER | 440223%skxnxnxx]12] HETxx%3 itk Wi R & 8000
467 | #EARIE | 440281xrxxrxxxx(29 HFRxxx6 i3t WK 7 7 13000
468 FFE | 440229%xxkxnnxx218 HLFQ#xx) it WK e T B 2 12000
469 | Zp#iE | 41061 1xxksxxxnx511 BLEDsk#%5 =8 WL EE % 9000
470 | BERA | 4402295k xnnxnxx017 | HEFQw#x5 ik MR T % 8000
471 | ZAE | 441823%xxxnxxxx938 HLFVsxx8 i3t WK 3 7 7 4000
472 | AbSrSC | 440202 kxkxnxx23) HLRgxx%8 ik MR o T & 8000
473 R | 4402235 xxnxnxnx513 HELxxx( ik WK e 7 2 8000
474 | BB 440223%%xkxkx%x325 [ B FPxxxx] it bR F 9000
475 | FHamF | 440229%%ssxxnxx013 |  HLF5k#x5 i3t WK 3 7 7 12000
476 A | 4402045k wxxnxnx626 HLRM#x%) ik WK o T & 8000
477 x| 5 4402045 #xxxxxxx0061 B FGxxx1 it Wi TR & 12000

%020 71, Jt 21 7




MG &

FS | #®#& SIS | TiEFESHE | IBE S B | AMEERAH] ()
478 | LEHME | 441723%sxxnkxxxx029 | HEQFwxxx] it bR F 9000
479 | B | 441881 %#kxxxxxx338 BE)x%%0 = YR i T R & 8000
480 | ZEE I | 440203%%xxkxkxx62X | ELFDw##x9 ik ek IR F 9000
481 P B | 440221 %#xsxnxnnx)5] BFGx#x) it MR TR & 8000
482 | FRzEZr | 440281#%xsxxxxx618 |  HELFD*xx%6 ik WAk IR TS E 9000
483 | ARXA | 440281sxwxnxnxx]14 | ELFDxxxx§ ik RS E 9000
484 | EAML | 440222k xxxxxxx%626 HRG#xxT ik WK e I & 8000
485 BRI | 440229 %xxxxxxxx245 B FRxxx%0 = FrEE BT H & 9000
486 | MHAEHF | 362101%xxsnxsxx53] FEBO** %S ik MK T % 8000
487 W EE | 440232%xxkknnxx(23 B EDsxxx () = Fr kb BT H & 9000
488 | FREH | 440204%xxxxxxx%046 HE)xxx( ik W o I & 13000
it 4955000
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